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MathLinks 8, pages 332-341

Use the graph at right to answer questions #1 to #4.

1. Complete a table of values for the graph.

Analysing Graphs of Linear Relations

Date:

2. Circle the three factors that should be included to describe

the pattern on a graph.
a) where it starts

d) x-axis and y-axis titles

b) how it changes

Graph A
¥
§'40
*3-—30
320
—i10
0 2 34 57

Npmléer éf Ticke:ts

¢) siope of the line

e) what it relates to

3. Does the graph above show a linear relation? How do you know?

4. Does it make sense to have values between those on the graph? Explain.

" Practise and Apply

@Complete the sentences to describe
the graph below.

Height of Buildings|
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Total Height (m)

1.2 3 47
Number of Stareys

(=]

a) The height of a one-storey
building is m, a
_..._Q___-storey building is 6 m
high, a three-storey building is

- m, :.\.\
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b) The points appear to lie in a
Sﬁm? W fins

shows a /&MM

relation.
<) The graph shows that to move
from one point to the next, you
o 1 unit horizontally, and
J units vertically.

d) Complete the tabie of values for
this graph.
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Name: i Date:

6. The graph shows the cost of gasoline e) What is the cost of gasoline per
based on the volume of gas. litre?
SR &
Cost of Gasoline 3_12. - ot O
7} 5
——45.00
—{37.50
- &130.00 f) If the graph continued, what
- &122.50 would be the cost of
-~ 115,00
I 25 L7 2
. (81.50X25) = *37.50
0/ 5 10 1520 25 30 ©
[ Volume (l.)] ]

30L?
a) Does the graph show a linear (91. ) 30) = BYS .00

relation? Explain.

The 4
7. The graph shows the maximum
Ax n_ 4 jjwuq‘hf ,ch S”“’"“‘j number of customers based on the

Rirson A ,Q ok iom . number of tables in the restaurant.
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b} The graph shows that for every é g f‘;
five units horizontally, you go B 0
28T £5 O
: units vertically. rECq8 {
-g S 4
0 2 :.! 45 6 x|
¢} Complete the table of values from Number of Tables

the graph.

a) Title the graph.

b) Describe the patterns on the
graph. Does the graph show a
linear relation?
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eve "( units Verticoli, -
¢) Complete t'I"uJe table of values for

the graph.

d} Would it be reasonable to include
a point for 7 L? Explain.
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